Q8. Our society is made up of people from many different religions, as well as many people who do not practice any religion at all. Thinking about governments and religions, which of the following approaches do you prefer?

Provinces/Territories Regions
Total NFL PEI NS NB Qc ON MB SK AB BC YK NT NU TERR ATL MAR PRA WST TER ROC

(A) (8) @ (D) (E) (F) (©) (H) [0} () (K) (L) (M) (N) (0) (P) Q) (R) (s) (T ()]
Weighted 5365 89 22 153 122 1267 2014 198 163 594 714 10 13 6 29 387 298 954 1668 29 4098
W'
Unweight 5365 301 201 301 309 1063 839 407 411 533 537 212 152 99 463 1112 811 1351 1888 463 4302
ed'N'
Governme, 52% 59% 67% 57% 54% 35% 58% 64% 57% 59% 57% 64% 62% 56% 61% 57% 56% 60% 58% 61% 58%
nts not F EF F F F EF F F F F F F
Governme, 30% 21% 19% 20% 31% 46% 26% 20% 22% 24% 25% 18% 16% 14% 16% 24% 25% 23% 24% 16% 25%
nts should BCDHIOjHIKLMNO
Neither of 11% 11% 12% 12% 11% 11% 11% 11% 14% 10% 12% 17% 21% 11% 17% 12% 12% 11% 12% 17% 11%
these
Cannot 7% 9% 3% 11% 4% 8% 6% 5% 7% 7% 6% 1% 1% 19% 5% 8% 7% 6% 6% 5% 6%)
say CEL CEGHKLM CEL C C C CEHLMO

Comparison Groups: BCDEFGHIJKLMNO/PQRSTU
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.

Q8. Our society is made up of people from many different religions, as well as many people who do not practice any religion at all. Thinking about governments and religions, which of the following approaches do you prefer?

Indigenous
Identity Peoples Group Community Language Gender
IN- NON/ FIR/ ME-/ IN-/ On Off ANG/ FRA/ Qc/ ALL/
Total CAN MIX PTI DIG IND NAT TIS uIT Res. Res. PHO NCO FRA PHO M F

(A) (8) (@] (D) (E) (F) (©) (H) [0} (K) (L) (M) (N) (0) (P) Q) (R)
Weighted 5365 2378 1504 1266 274 5040 181 79 7 109 70 3880 1200 1081 243 2593 2746
'
Unweight 5365 2029 1437 1350 905 4409 548 279 51 287 250 4090 982 816 253 2480 2859
ed'N'
Governme, 52% 59% 56% 38% 51% 53% 51% 54% 42% 48% 57% 59% 33% 31% 54% 53% 52%
nts not D D NO NO
Governme, 30% 24% 28% 43% 31% 30% 29% 33% 26% 35% 21% 24% 47% 49% 31% 33% 27%
nts should BC L MP MP R
Neither of 11% 11% 10% 12% 14% 11% 16% 8% 26% 16% 14% 11% 12% 12% 9% 9% 13%
these H Q|
Cannot 7% 6% 6% 6% 4% 7% 4% 5% 6% 1% 8% 6% 8% 8% 6% 6% 7%
say E K

Comparison Groups: BCD/EF/GHI/KL/MNOP/QR
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.




Q8. Our society is made up of people from many different religions, as well as many people who do not practice any religion at all. Thinking about governments and religions, which of the following approaches do you prefer?

Age Education Household Income Income adequacy Urb.
$60- GOOD JUST NOT/
18-/ 25/- 35/- 45/- HS/ com/ UNV/ $30/ $100 $100K / /EN- STR- NOT/ URB/
Total 24 34 44 54 55+ <HS coOM coL DEG <30K S60K K /PLUS ENGH GH ET HARD CAN
(A) (B) (@] (D) (E) (F) (©) (H) (1) ) (K) (L) (M) (N) () (P) Q) (R) ()
Weighted 5365 592 899 947 881 2046 605 1258 1922 1513 1031 1320 1362 1276 1489 1788 1320 564 2249
'
Unweight 5365 428 1256 1192 1056 1433 314 935 1962 2088 812 1179 1422 1607 1579 1814 1227 577 1571
ed 'N'
Governme, 52% 56% 57% 52% 52% 50% 42% 53% 52% 57% 54% 51% 52% 56% 54% 53% 56% 46% 55%:
nts not EF G G Gl R R
Governme, 30% 21% 28% 30% 31% 32% 25% 30% 31% 30% 25% 32% 32% 31% 33% 31% 27% 29% 29%:
nts should B B B K K K Q
Neither of 11% 11% 8% 9% 12% 13% 20% 11% 10% 9% 12% 11% 12% 10% 8% 10% 13% 15% 10%
these C HIlJ (o] 0
Cannot 7% 11% 7% 8% 5% 5% 12% 7% 6% 4% 10% 5% 4% 4% 5% 5% 4% 10% 6%
say CEF EF Hl J J LMN oPQ

Comparison Groups: BCDEF/GHIJ/KLMN/OPQR

Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.

Q8. Our society is made up of people from many different religions, as well as many people who do not practice any religion at all. Thinking about governments and religions, which of the following approaches do you prefer?

Generation in Years in Sat. with
Canada Canada Federal Party support direction Spectrum
10-/
<10/ 20 20+ NON/ DIS/ Cen-
Total 1ST 2ND 3RD YRS YRS /YRS LIB CON NDP BQ GRN PPC UND SAT SAT Left tre Right

(A) (B) (@] (D) (E) (F) ()} (H) (1) ) (K) (L) (M) (N) () (P) Q) (R) ()
Weighted 5365 1029 967 3297 327 288 340 1449 1361 762 272 271 191 1059 2129 2645 827 2502 1071
'
Unweight 5365 912 795 3584 359 242 243 1489 1330 881 201 289 178 997 2275 2575 887 2365 1178
ed 'N'
Governme, 52% 59% 52% 51% 62% 56% 60% 58% 54% 64% 20% 48% 47% 45% 54% 54% 62% 53% 51%:
nts not CD KLN KN IKLMN K K K RS
Governme, 30% 25% 28% 32% 25% 29% 24% 30% 30% 26% 69% 37% 28% 19% 34% 27% 27% 30% 36%:
nts should B N N N| HULMN IN P QR
Neither of 11% 9% 12% 11% 7% 11% 10% 7% 13% 8% 6% 11% 18% 17% 7% 13% 9% 11% 9%
these HJK HJK HIJKL (0]
Cannot 7% 6% 7% 6% 6% 4% 6% 5% 3% 2% 5% 4% 7% 18% 4% 6% 3% 6% 3%,
say J HIJKLM [¢] QS

Comparison Groups: BCD/EFG/HIJKLMN/OP/QRS
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.




Q44. When Parliament passes a law but the Supreme Court of Canada says it is unconstitutional, it conflicts with the Charter of Rights, who should have the final say?

Provinces/Territories Regions
Total NFL PEI NS NB Qc ON MB SK AB BC YK NT NU TERR ATL MAR PRA WST TER ROC

(A) (8) @ (D) (E) (F) (©) (H) [0} () (K) (L) (M) (N) (0) (P) Q) (R) (s) (T ()]
Weighted 5336 89 22 153 122 1267 2014 198 163 594 714 - - - - 387 298 954 1668 - 4069
'
Unweight 4902 301 201 301 309 1063 839 407 411 533 537 - - - - 1112 811 1351 1888 - 3839
ed'N'
Parliamen 19% 14% 18% 12% 19% 25% 18% 18% 15% 14% 17% - - - - 15% 15% 15% 16% - 17%
t BDEGHIJK D D
Supreme 53% 53% 53% 57% 45% 45% 55% 50% 56% 60% 56% - - - - 52% 52% 57% 57% - 55%
Court EF EF EF EFH EF P
Cannot 28% 33% 29% 32% 36% 29% 27% 31% 29% 26% 27% - - - - 33% 33% 27% 27% - 28%,
say GJK RSU RSU
Comparison Groups: BCDEFGHIJKLMNO/PQRSTU
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.
Q44. When Parliament passes a law but the Supreme Court of Canada says it is unconstitutional, it conflicts with the Charter of Rights, who should have the final say?

Indigenous
Identity Peoples Group Community Language Gender
IN- NON/ FIR/ ME-/ IN-/ On Off ANG/ FRA/ Qc/ ALL/
Total CAN MIX PTI DIG IND NAT TIS uIT Res. Res. PHO NCO FRA PHO M F

(A) (8) @ (D) (E) (F) (©) (H) [0} (K) (L) (M) (N) (0) (P) Q) (R)
Weighted 5336 2378 1500 1263 268 5021 176 79 6 109 66 3856 1198 1081 242 2579 2736
'
Unweight 4902 2006 1409 1302 806 4049 502 262 16 282 211 3679 970 816 216 2224 2658
ed'N'
Parliamen 19% 19% 17% 22% 33% 18% 39% 25% 4% 50% 21% 17% 24% 25% 19% 22% 16%
t C F HI L M M R
Supreme 53% 57% 52% 50% 47% 53% 44% 50% 64% 43% 47% 56% 46% 45% 49% 57% 49%
Court D B NO R
Cannot 28% 24% 31% 28% 20% 28% 17% 26% 32% 8% 32% 27% 31% 30% 32% 21% 35%,
say B E G K Q)

Comparison Groups: BCD/EF/GHI/KL/MNOP/QR
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.




Q44. When Parliament passes a law but the Supreme Court of Canada says it is unconstitutional, it conflicts with the Charter of Rights, who should have the final say?

Age Education Household Income Income adequacy Urb.
$60- GOOD JUST NOT/
18-/ 25/- 35/- 45/- HS/ com/ UNV/ $30/ $100 $100K / /EN- STR- NOT/ URB/
Total 24 34 44 54 55+ <HS coOM coL DEG <30K S60K K /PLUS ENGH GH ET HARD CAN
(A) (B) (@] (D) (E) (F) (©) (H) (1) ) (K) (L) (M) (N) () (P) Q) (R) ()
Weighted 5336 589 897 943 879 2028 602 1257 1913 1503 1030 1316 1355 1263 1476 1777 1317 563 2249
'
Unweight 4902 396 1205 1140 979 1182 275 884 1803 1879 779 1133 1291 1384 1377 1648 1169 548 1562
ed 'N'
Parliamen 19% 27% 20% 19% 15% 17% 23% 18% 17% 21% 17% 18% 19% 22% 28% 18% 13% 15% 21%
t DEF E E K PQR Q
Supreme 53% 44% 49% 51% 59% 56% 45% 51% 56% 55% 49% 55% 56% 56% 52% 53% 57% 56% 53%
Court BCD BC G G K K K
Cannot 28% 29% 31% 30% 26% 27% 32% 31% 26% 25% 35% 26% 25% 21% 19% 29% 30% 28% 27%
say E J LMN N (0] (0] (0]
Comparison Groups: BCDEF/GHIJ/KLMN/OPQR
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.
Q44. When Parliament passes a law but the Supreme Court of Canada says it is unconstitutional, it conflicts with the Charter of Rights, who should have the final say?
Generation in Years in Sat. with
Canada Canada Federal Party support direction Spectrum
<10/ 20 20+ NON/ DIS/ Cen-
Total 1ST 2ND 3RD YRS YRS /YRS LIB CON NDP BQ GRN PPC UND SAT SAT Left tre Right
(A) (B) (@] (D) (E) (F) (©) (H) (1) ) (K) (L) (M) (N) () (P) Q) (R) ()
Weighted 5336 1025 962 3280 327 287 338 1441 1353 756 272 270 190 1053 2116 2634 823 2486 1067
'
Unweight 4902 853 698 3282 351 229 206 1362 1197 786 201 267 165 924 2052 2359 789 2124 1092
ed 'N'
Parliamen 19% 18% 19% 19% 23% 15% 14% 26% 18% 16% 33% 17% 15% 10% 27% 15% 19% 18% 28%
t IJLMN N N IJLMN N P QR
Supreme 53% 52% 54% 53% 51% 56% 55% 54% 64% 58% 40% 47% 62% 37% 51% 58% 57% 57% 57%
Court KN HKLN KLN KLN (0]
Cannot 28% 30% 27% 27% 26% 28% 31% 20% 18% 26% 26% 36% 23% 53% 22% 27% 24% 25% 15%
say HI | HUUM HUKLM (o] S S

Comparison Groups: BCD/EFG/HIJKLMN/OP/QRS
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.




Q45. The Canadian constitution gives governments the power to overrule the courts by passing a law. Do you think that governments [should/should not] have this power?

Provinces/Territories Regions
Total NFL PEI NS NB Qc ON MB SK AB BC YK NT NU TERR ATL MAR PRA WST TER ROC

(A) (8) @ (D) (E) (F) (©) (H) [0} () (K) (L) (M) (N) (0) (P) Q) (R) (s) (T ()]
Weighted 5336 89 22 153 122 1267 2014 198 163 594 714 - - - - 387 298 954 1668 - 4069
W'
Unweight 4902 301 201 301 309 1063 839 407 411 533 537 - - - - 1112 811 1351 1888 - 3839
ed'N'
Should 27% 18% 26% 21% 24% 36% 25% 26% 17% 23% 27% - - - - 22% 23% 23% 24% - 25%

|BCDEGHIK Bl Bl Bl
Should 46% 47% 50% 50% 44% 34% 49% 43% 58% 56% 49% - - - - 48% 48% 53% 52% - 50%!
not F F F F F F| BEFGHK EFGH F P
Cannot 27% 35% 25% 28% 32% 30% 26% 31% 26% 21% 24% - - - - 31% 29% 24% 24% - 26%.
say CGlK JK JK J RSU RS
Comparison Groups: BCDEFGHIJKLMNO/PQRSTU
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.
Q45. The Canadian constitution gives governments the power to overrule the courts by passing a law. Do you think that governments [should/should not] have this power?
Indigenous
Identity Peoples Group Community Language Gender
FIR/ ME-/ IN-/ On Off ANG/
Total CAN MIX PTI NAT TIS uIT Res. Res. PHO NCO FRA PHO M F

(A) (8) @ (D) (E) (F) (©) (H) [0} (K) (L) (M) (N) (0) (P) Q) (R)
Weighted 5336 2378 1500 1263 268 5021 176 79 6 109 66 3856 1198 1081 242 2579 2736
W'
Unweight 4902 2006 1409 1302 806 4049 502 262 16 282 211 3679 970 816 216 2224 2658
ed'N'
Should 27% 27% 23% 35% 41% 27% 47% 30% 38% 60% 26% 26% 35% 35% 18% 32% 23%,

BC F H L MP MP R

Should 46% 49% 48% 38% 43% 46% 39% 50% 39% 35% 47% 50% 35% 33% 47% 46% 45%
not D D K NO NO
Cannot 27% 24% 28% 27% 16% 27% 14% 20% 24% 5% 27% 25% 30% 32% 35% 21% 32%,
say B E K M M M Q)

Comparison Groups: BCD/EF/GHI/KL/MNOP/QR

Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)

Uppercase letters indicate significance at the 95% level.




Q45. The Canadian constitution gives governments the power to overrule the courts by passing a law. Do you think that governments [should/should not] have this power?

Age Education Household Income Income adequacy Urb.
$60- GOOD JUST NOT/
18-/ 25/- 35/- 45/- HS/ com/ UNV/ $30/ $100 $100K / /EN- STR- NOT/ URB/
Total 24 34 44 54 55+ <HS coOM coL DEG <30K S60K K /PLUS ENGH GH ET HARD CAN
(A) (B) (@] (D) (E) (F) (©) (H) (1) ) (K) (L) (M) (N) () (P) Q) (R) ()
Weighted 5336 589 897 943 879 2028 602 1257 1913 1503 1030 1316 1355 1263 1476 1777 1317 563 2249
'
Unweight 4902 396 1205 1140 979 1182 275 884 1803 1879 779 1133 1291 1384 1377 1648 1169 548 1562
ed 'N'
Should 27% 40% 31% 29% 22% 24% 28% 26% 25% 32% 25% 26% 29% 32% 39% 27% 23% 15% 30%
CDEF EF EF HI KL PQR R R
Should 46% 41% 43% 42% 54% 47% 39% 47% 50% 44% 42% 49% 48% 47% 39% 47% 49% 60% 46%
not BCDF GJ (0] (0] oPQ
Cannot 27% 19% 26% 29% 24% 29% 32% 28% 25% 24% 33% 26% 23% 21% 23% 26% 27% 25% 24%
say B B B J LMN
Comparison Groups: BCDEF/GHIJ/KLMN/OPQR
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.
Q45. The Canadian constitution gives governments the power to overrule the courts by passing a law. Do you think that governments [should/should not] have this power?
Generation in Years in Sat. with
Canada Canada Federal Party support direction Spectrum
<10/ 20 20+ NON/ DIS/ Cen-
Total 1ST 2ND 3RD YRS YRS /YRS LIB CON NDP BQ GRN PPC UND SAT SAT Left tre Right
(A) (B) (@] (D) (E) (F) (©) (H) (1) ) (K) (L) (M) (N) () (P) Q) (R) ()
Weighted 5336 1025 962 3280 327 287 338 1441 1353 756 272 270 190 1053 2116 2634 823 2486 1067
'
Unweight 4902 853 698 3282 351 229 206 1362 1197 786 201 267 165 924 2052 2359 789 2124 1092
ed 'N'
Should 27% 27% 30% 27% 31% 22% 24% 37% 28% 24% 48% 18% 19% 14% 39% 20% 27% 26% 41%
IJLMN LN N HIULMN P QR
Should 46% 46% 45% 47% 48% 54% 43% 38% 56% 52% 22% 56% 67% 39% 39% 56% 50% 49% 44%
not K HKN HKN HKN HIKN K (0] S S
Cannot 27% 27% 26% 26% 21% 24% 33% 25% 15% 24% 29% 26% 14% 47% 22% 24% 23% 25% 16%
say E IM IM IM IM HIKLM S S

Comparison Groups: BCD/EFG/HIJKLMN/OP/QRS
Independent T-Test for Means (equal variances), Independent Z-Test for Percentages (unpooled proportions)
Uppercase letters indicate significance at the 95% level.




